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PART - I

MATHEMATICS
1. If R be a relation from A = {1,2, 3, 4} to B = {1, 3,

5} i.e., ( , ) ,a b R a b    then 1RoR  is :
(a) {(1, 3), (1, 5), (2, 3), (2, 5), (3, 5), (4, 5)}
(b) {(3, 1) (5, 1), (3, 2), (5, 2), (5, 3), (5, 4)}
(c) (3, 3), (3, 5), (5, 3), (5, 5)}
(d) {(3, 3) (3, 4), (4, 5)}

2. If the function :[1, ) [1, )f     is defined by
( 1)( ) 2 ,x xf x  then 1f  (x) is :

(a)
( 1)1

2


 
 
 

x x

(b) 2
1 (1 1 4 log )
2

  x

(c)  2
1 1 1 4log
2

  x

(d) Not defined

3. The common roots of the equations 12 1 0x   ,
4 2 1 0x x    are :

(a)  (b) 2

(c) 2,   (d) None of these
4. The sum of first n  terms of the given series

2 2 2 2 2 21 2.2 3 2.4 5 2.6 ............      is

 
2( 1)

2
n n  , when n  is even. When n  is odd, the

sum will be?

(a)
2( 1)

2
n n 

(b) 21 ( 1)
2

n n 

(c) 2( 1)n n (d) None of these

5. Let ,  be the roots of 2 (3 ) 0.x x       The

value of   for which 2 2   is minimum, is :

(a) 0 (b) 1
(c) 2 (d) 3

6. The exponent of 3 in 100! is :
(a) 33 (b) 44
(c) 48 (d) 52

1. ;fn R ,d lEcU/k A  ls B esa gS] tgk¡ A = {1,2, 3, 4}
ls B = {1, 3, 5} vFkkZr~ ( , ) ,a b R a b    rc

1RoR  gS %
(a) {(1, 3), (1, 5), (2, 3), (2, 5), (3, 5), (4, 5)}
(b) {(3, 1) (5, 1), (3, 2), (5, 2), (5, 3), (5, 4)}
(c) (3, 3), (3, 5), (5, 3), (5, 5)}
(d) {(3, 3) (3, 4), (4, 5)}

2. ;fn Qyu :[1, ) [1, )f    , ( 1)( ) 2 ,x xf x 

}kjk ifjHkkf"kr gS rks 1f  (x) gS %

(a)
( 1)1

2


 
 
 

x x

(b) 2
1 (1 1 4 log )
2

  x

(c)  2
1 1 1 4log
2

  x

(d) vifjHkkf"kr

3. lehdj.k 12 1 0x    vk Sj  4 2 1 0x x    dk
mHk;fu"B ewy gS&

(a)  (b) 2

(c) 2,   (d) buesa ls dksbZ ugha

4. Js.kh  2 2 2 2 2 21 2.2 3 2.4 5 2.6 ............      ds

izFke n inksa dk ;ksxQy 
2n(n 1)

2


 gS] tcfd n le

gSA tc n fo"ke gks rks Js.kh dk ;ksx gksxk %

(a)
2( 1)

2
n n  (b) 21 ( 1)

2
n n 

(c) 2( 1)n n (d) buesa ls dksbZ ugha

5. ;fn ,  lehdj.k 2x (3 )x 0      ds ewy

gksa] rks   ds fdl eku ds fy;s 2 2   dk eku
U;wure gS %

(a) 0 (b) 1
(c) 2 (d) 3

6. 100! esa 3 dk ?kkrkad gS %

(a) 33 (b) 44
(c) 48 (d) 52
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7. Five balls of different colours are to be placed in

three boxes of different sizes. Each box can hold all
five balls. In how many ways can we place the balls
so that no box remains empty :
(a) 50 (b) 100
(c) 150 (d) 200

8. Let P(n) denote the statement that 2( )n n  is odd.

It is seen that ( ) ( 1)P n P n  , nP  is true for all :

(a) n > 1 (b) n
(c) n > 2 (d) None of these

9. Adjoint of the matrix 
4 3 3

1 0 1
4 4 3

N
   
   
  

 is :

(a) N (b) 2N
(c) –N (d) None of these

10. What is the value of 
2 3

2 3 4
4 5 6

  
  
  

a b a b a b
a b a b a b
a b a b a b

?

(a) 2 2 2 3  a b c abc (b) 3ab
(c) 3 5a b (d) 0

11. There are 3 bags which are known to contain 2
white and 3 black balls; 4 white and 1 black balls
and 3 white and 7 black balls in each bag
respectively. A ball is drawn at random from one of
the bags and found to be a black ball. Then the
probability that it was drawn from the bag containing
the most black balls is :

(a)
7

15 (b)
5

19

(c)
3
4 (d) None of these

12. A die is tossed thrice. If getting a four is considered
a success, then the mean and variance of the
probability distribution of the number of successes
are :

(a)
1 1,
2 12 (b)

1 5,
6 12

(c)
5 1,
6 2 (d) None of these

7. vyx&vyx eki dh rhu lUnwd esa fHkUu&fHkUu jax
dh 5 xasan j[kuk gSA izR;sd lUnwd esa lHkh ik¡p xsnksa
dks j[kk tk ldrk gSA fdrus <ax ls xsnksa dks ge
lUnwd esa j[k ldrs gSa fd dksbZ lUnwd [kkyh u jgs&
(a) 50 (b) 100
(c) 150 (d) 200

8. ekuk P(n) dFku “ 2( )n n  fo"ke gS” dks O;Dr djrk

gSA ;g ns[kk x;k fd ( ) ( 1)P n P n   rks  n ds fdu
lHkh ekuksa ds fy, P(n) lR; gS\
(a) n > 1 (b) n
(c) n > 2 (d) buesa ls dksbZ ugha

9. vO;wg 
4 3 3

1 0 1
4 4 3

N
   
   
  

 dk lg[k.Mt gS&

(a) N (b) 2N
(c) –N (d) buesa ls dksbZ ugh

10.

2 3
2 3 4
4 5 6

  
  
  

a b a b a b
a b a b a b
a b a b a b

 dk eku D;k gS\

(a) 2 2 2 3  a b c abc (b) 3ab
(c) 3 5a b (d) 0

11. rhu FkSysa gSa] ftuesa ls izR;sd esa Øe'k% 2 lQsn vkSj
3 dkyh] 4 lQsn vkSj 1 dkyh rFkk 3 lQsn vkSj
7 dkyh xsansa gSaA bu FkSyksa esa ,d esa ls ,d xsan
;nP̀N;k pquh tkrh gS vkSj dkyh xsan çkIr gksrh gS]
rc bl xsan ds ml FkSys esa ls ftlesa lcls vf/kd
dkyh xsansa gSa] gksus dh çkf;drk gS&

(a)
7

15 (b)
5

19

(c)
3
4 (d) buesa ls dksbZ ugh

12. ,d ik¡lk 3 ckj Qsadk tkrk gSA 4 dk vkuk lQy
ekuk tkrk gS rks çkf;drk forj.k dh lQyrkvksa dh
la[;kvksa dk ek/; vkSj folj.k gS %

(a)
1 1,
2 12 (b)

1 5,
6 12

(c)
5 1,
6 2 (d) buesa ls dksbZ ugha
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13. If 180 ,oA B C   then tan tan
2 2 A B

 is equal

to :
(a) 0 (b) 1
(c) 2 (d) 3

14. A person standing on the bank of a river observes
that the angle subtended by a tree on the opposite
bank is 60°. When he retires 40 meter from the bank,
he finds the angle to be 30°. The breadth of the river is
:
(a) 20 m (b) 40 m
(c) 30 m (d) 60 m

15. If a triangle PQR , sin , sin , sinP Q R are in A.P.,.,
then :
(a) The altitudes are in A.P.
(b) The altitudes are in H.P.
(c) The medians are in G.P.
(d) The medians are in A.P.

16. The value of 1 a b2 tan tan
a b 2

   
  

 is :

(a) 1 coscos
cos

  
  

a b
a b




(b) 1 coscos
cos

  
  

a b
a b




(c) 1 coscos
cos

  
  

a
a b




(d) 1 coscos
cos

 
 
b

b a

17. Let P be the point (1, 0) and Q a point of the locus
2 8y x . The locus of mid point of PQ is :

(a) 2 4 2 0  x y (b) 2 4 2 0  x y

(c) 2 4 2 0  y x (d) 2 4 2 0  y x

18. Equation of the line which passes through the point
( 4, 3)  and the portion of the line intercepted
between the axes is divided internally in the ratio 5
: 3 by this point, is :
(a) 9 20 96 0  x y (b) 20 9 96 0  x y

(c) 9 20 96 0  x y (d) None of these

13. ;fn 180 ,oA B C    rc tan tan
2 2
A B  cjkcj gS

(a) 0 (b) 1
(c) 2 (d) 3

14. ,d O;fä tks unh ds fdukjs [kM+k gS] unh ds nwljs
fdukjs ij fLFkr ,d ò{k dk mUu;u dks.k  60°
vuqHkwfr djrk gSA tc og fdukjs ls 40 ehVj ihNs gVrk
gS] rks dks.k 30° gks tkrk gSA unh dh pkSM+kbZ gS %

(a) 20 ehVj (b) 40 ehVj
(c) 30 ehVj (d) 60 ehVj

15. ;fn  PQR  esa, sin , sin , sinP Q R  lekUrj Js.kh
esa gksa] rks %
(a) 'kh"kZyEc lekUrj Js.kh esa gS

(b) 'kh"kZyEc gjkRed Js.kh esa gS

(c) ekf/;dk;sa xq.kksÙkj Js.kh esa gSaS

(d) ekf/;dk;sa lekUrj Js.kh esa gSa

16. 1 a b2 tan tan
a b 2

   
  

 dk eku gS %

(a) 1 coscos
cos

  
  

a b
a b




(b) 1 coscos
cos

  
  

a b
a b




(c) 1 coscos
cos

  
  

a
a b




(d) 1 coscos
cos

 
 
b

b a

17. ekuk P(1, 0) gS vkSj oØ 2 8y x  ds fcUnqiFk ij ,d

fcUnq Q gSA PQ ds e/; fcUnq dk fcUnqiFk gS %

(a) 2 4 2 0  x y (b) 2 4 2 0  x y

(c) 2 4 2 0  y x (d) 2 4 2 0  y x

18. ml js[kk dk lehdj.k D;k gS] tks (  4, 3)  ls
xqtjrh gS ,oa bl fcUnq }kjk v{kksa ds chp dk Hkkx
5 : 3 ds vuqikr esa vUr% foHkkftr gksrk gS] gS %

(a) 9 20 96 0  x y (b) 20 9 96 0  x y

(c) 9 20 96 0  x y (d) buesa ls dksbZ ugha
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19. Area of the circle in which a chord of length 2

makes an angle 2


 at the centre is :

(a) 2


(b) 2

(c)  (d) 4


20. The line y mx c   is a normal to the ellipse
2 2

2 2
x y 1
a b

  , then c equal is :

(a) 2(2 )am bm  (b)
2 2

2 2 2

( )a b m
a b m




(c)
2 2

2 2 2

( )a b m
a b m





(d)
2 2

2 2

( )a b m
a b



21. The locus of the point of intersection of the lines

3 4 3 0x y k    and 3 4 3 0kx ky  
for different value of k is :
(a) Circle (b) Parabola
(c) Hyperbola (d) Ellipse

22. If a, b, c are non-coplanar vectors and  is a real
number, then the vectors 2 3 , 4  a b c b c  and
(2 1)  c  are non-coplanar for :
(a) No value of 
(b) All except one value of 
(c) All except two values of 
(d) All values of 

 The equations | | ,| | ,| |x p y p z p    in xyz space
represent :
(a) Cube (b) Rhombus
(c) Sphere of radius p (d) Point (p, p, p)

24. The value of f at x = 0 so that the function

2 2( ) , 0
x x

f x x
x


  , is continuous at 0x  , is :

(a) 0 (b) log 2
(c) 4 (d) log 4

25. Area bounded by curves 2y x  and 22y x 
is :
(a) 8/3 (b) 3/8
(c) 3/2 (d) None of these

19. ml or̀ dk {ks=Qy D;k gS] ftldh 2  yEckbZ dh

thok dsUæ ij 
2
  dks.k vUrfjr djrh gS %

(a) 2


(b) 2

(c)  (d) 4


20. ;fn js[kk y mx c  , nh?kZoR̀r 
2 2

2 2
x y 1
a b

   dk

,d vfHkyEc gS rks c cjkcj gS %

(a) 2(2 )am bm  (b)
2 2

2 2 2

( )a b m
a b m




(c)
2 2

2 2 2

( )a b m
a b m





(d)
2 2

2 2

( )a b m
a b




21. k ds fofHké ekuksa ds fy, js[kkvksa 3 4 3 0  x y k
vkSj 3 4 3 0kx ky    ds çfrPNsn fcUnqvksa dk
fcUnqiFk gS %
(a) òr (b) ijoy;
(c) vfrijoy; (d) nh?kZòr

22. ;fn a, b, c vleryh; lfn'k gSa vkSj   ,d okLrfod
l a[;k g S r k s  fdl eku d s fy, lfn' k

2 3 , 4  a b c b c vkSj (2 1)  c  vleryh; gSA

(a)  dk dksbZ eku ugha gS
(b)  ds ,d eku ds vfrfjDr lHkh ds fy,
(c)  ds nks eku ds vfrfjDr lHkh ds fy,
(d)  ds lHkh eku ds fy,

23. xyz-varfj{k esa lehdj.k | | ,  | | ,  | |x p y p z p  
çnf”kZr djrk gS %
(a) ?ku (b) leprqHkqZt
(c) p f=T;k dk xksyk (d) fcUnq (p, p, p)

24. x = 0 ij f dk eku] bl izdkj fd x = 0 ij Qyu

2 2( ) , 0
x x

f x x
x


  ,  lrr gS%

(a) 0 (b) log 2
(c) 4 (d) log 4

25. oØ 2y x  rFkk 22y x   ls f?kjs {ks= dk {ks=Qy

gS %
(a) 8/3 (b) 3/8
(c) 3/2 (d) buesa ls dksbZ ugha
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SCIENCE

26. A body of weight 2 kg is suspended as shown in
figure. The tension T1 in the horizontal string (in kg-
wt) is

30o

2 kg-wt

1T

(a) 2 3 (b) 3 / 2

(c) 3 (d) 2

27. A force F = 2.0 N acts on a particle P in the x-z
plane. The force F is parallel to x-axis. The particle
P (as shown in the figure) is at a distance 3m and
the line joining P with the origin makes an angle 30°
with the x-axis. The magnitude of torque on P w.r.t.
origin O (in N-m) is

P

yO

z

F

3 m

x

30

 (a) 2 (b) 3
(c) 4 (d) 5

28. Two rods of the same length and diameter
having thermal conductivities K1 and K2

are  joined in parallel. The equivalent
thermal conductivity of the combination is

(a) 
1 2

1 2

K K
K K (b) 1 2K K

(c) 1 2

2
K K

(d) 1 2K K

26. ,d fiUM ftldk Hkkj 2 Kg gS fp=kuqlkj yVdk;k
x;k gSA {kSfrt jLlh esa ruko T1 (Kg-wt) esa gksxkA

30o

2 kg-wt

1T

  (a) 2 3 (b) 3 / 2

  (c) 3 (d) 2

27. x, z ry esa fLFkr fdlh d.k P ij ,d cy F = 2N
dk;Z djrk gSA cy F, x v{k ds lekUrj gSA d.k P,
3 eh0 dh nwjh ij gS vkSj d.k P dks feykus okyh
js[kk x v{k dh mRifŸk ds lkFk30o  dk dks.k cukrh
gS rks mRifŸk O ds lkis{k P ij cy dk vk?kw.kZ (N-m)
esa gksxk&

P

yO

z

F

3 m

x

30

  (a) 2 (b) 3
  (c) 4 (d) 5

28. leku yEckbZ vkSj O;kl okyh nks NM+ksa dh Å"ek
pkydrk K1 rFkk K2 gS tks lekUrj Øe esa tksM+h
x;h gSa rks bl la;kstu dh rqY; Å"eh; pkydrk
gksxhA

 (a) 
1 2

1 2

K K
K K (b) 1 2K K

 (c) 1 2

2
K K

(d) 1 2K K
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29. fdlh ljy vkorZ xfr djrs gq;s d.k dk le;
foLFkkiu xzkQ fuEu gS]

      
foLFkkiu

le;

bldk cy le; xzkQ gS %

  (a)  (b)  

 (c)   (d) 

30. ,d10 C  ds vkos'k dks f=T;k R = 10 cm ds v/kZ
xksys ds dsUnz ij j[kk gSA v)Z xksys ls xqtjus okyk
oS|qrh; ¶yDl (MKS bdkbZ esa) gS %

R
10 C 

  (a) 20×105 (b) 10×105

 (c) 6×105 (d) 2×105

31. fn;s x;s ifjiFk esa /kkjk gS %

     A B

2V

5V10

20

 (a) 0.3 A (b) 0.4 A
(c) 0.1 A (d) 0.2 A

29. The displacement-time graph of a particle executing
SHM is as shown in the figure.

The corresponding force-time graph of the particle
is

(a) (b)   

(c)  (d)  

30. A charge 10 C is placed at the centre of a hemi-
sphere of radius R = 10 cm as shown. The electric
flux through the hemisphere (in MKS units) is

R
10 C 

(a) 20×105 (b) 10×105

(c) 6×105 (d) 2×105

31. The current in the given circuit is

A B

2V

5V10

20

 (a) 0.3 A (b) 0.4 A
(c) 0.1 A (d) 0.2 A
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32. buesa dkSu vxz Mk;ksM la;kstu vfHkur gSA

(a)  +2V 2V

(b)  3V 3V

(c)   2V 4V

(d)  +2V2V

33. MnO4 dk vkDtSfyd vEy ds lkFk fuEufyf[kr
lehdj.k ds vuq:i vfHkfØ;k djrk gSA

2 2
4 2 4 2 22MnO 5C O 16H 2Mn 10CO 8H O      

 0.1 M MnO4 dh 20 ml ek=k fdlds cjkcj gS\
(a) 0.25 M oxalic vEy dh 120 ml
(b) 0.1 M oxalic vEy dh 150 ml
(c) 0.1 M oxalic vEy dh 50 ml
(d) 0.2 M oxalic vEy dh 50 ml

34. vEyh; iksVSf'k;e ijeSaxus aV ds fdrus eksy
KHC2O4

.HCOONa.2H2O ds ,d eksy ls vfHkfØ;k
djsxk\

(a) 
2
5 (b) 

4
5

(c) 
5
4 (d) 

5
2

35. vkyw ds LVkpZ ds uewus dks ,d cky fey esa ihlk
tkrk gS rkfd fuEu vk.kfod Hkkj okys LVkpZ tSlk
,d v.kq izkIr gks lds bl mRikn dk 0.086%
QkLQksjl ds #i esa fo'ys"k.k fd;k x;kA ;fn
izR;sd v.kq esa ,d QkLQksjl v.kq mifLFkr gks rc
inkFkZ dk v.kq Hkkj D;k gS\
(a) 3.6 x 106 (b) 4.9 x 104

(c) 7.2 x 103 (d) 3.6 x 104

36. Co2+
, ds cksjsDl chM ijh{k.k esa chM dk uhyk jax

fdlds fuekZ.k dk ifj.kke gS\
(a) B2O3 (b) Co3B2

(c) Co(BO2)2 (d) Co3O4

37. 'kq"d ikmMj ;qDr vfXu'kked ;a= esa gksrk gS\

(a) ckyw

(b) ckyw rFkk Na2CO3

(c) ckyw rFkk csfdax lksMk

(d) ckyw rFkk K2CO3

32. The forward biased diode connection is

(a)  +2V 2V

(b)  3V 3V

(c)   2V 4V

(d)  +2V2V

33. MnO4reacts with oxalic acid according to the
equation :

2 2
4 2 4 2 22MnO 5C O 16H 2Mn 10CO 8H O      

20 ml of 0.1 M MnO4 is equivalent to
(a) 120 ml of 0.25 M oxalic acid
(b) 150 ml of 0.1 M oxalic acid
(c) 50 ml of 0.1 M oxalic acid
(d) 50 ml of 0.2 M oxalic acid

34. How many moles of acidic potassium permagnate
reacts with one mole of KHC2O4

.HCOONa
.2H2O?

(a) 
2
5 (b) 

4
5

(c) 
5
4 (d) 

5
2

35. A sample of potato starch was grinded in a ball mill
to give a starch like molecule of lower molecular
weight. The product analysed 0.086% Phosphorus.
If each molecule is assumed to contain one atom of
phosphorus. The molecular weight of the material
is
(a) 3.6 x 106 (b) 4.9 x 104

(c) 7.2 x 103 (d) 3.6 x 104

36. In the borax bead test of Co2+
, the blue colour of

bead is due to the formation of
(a) B2O3 (b) Co3B2

(c) Co(BO2)2 (d) Co3O4

37. Dry powder fire extinguisher contains
(a) Sand
(b) Sand and Na2CO3

(c) Sand and Baking soda
(d) Sand and K2CO3
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38. NO2 AZn/NaOH B
Cold conc. HCl

C2H5OH

A rFkk B gSA

(a) NHOH,HO NH2

(b) , H2NNH–HN NH2

(c) N=N

O

N=N

(d) mijksDr dksbZ Hkh lgh ugha

39. ,d gh foyk;d esa leeksyj foy;uksa dk %
(a) ,d leku DoFkukad ijUrq fHkUu fgekad gksrs gSaA
(b) ,d leku fgekad ijUrq fHkUu DoFkukad gksrs gSaA
(c) ,d leku fgekad rFkk DoFkukad gksrs gSaA
(d) fHkUu&fHkUu fgekad rFkk DoFkukad gksrs gSaA

40. uhps mYysf[kr jlk;fud vfHkfØ;k dh nj dk
vkdyu djus ds laca/k esa fuEu esa ls dkSu lk
vfHkdFku lR; gS\

   35 6   Br aq BrO aq H

     2 23 3 aq Br aq H O l

 (a) 5
Br H

t t

        
 

(b) 6
5

Br H
t t

        
 

(c) 5
6

Br H
t t

        
 

(d) 6
Br H

t t

        
 

41. lwph&I dks lwph&II ls lqesfyr djsa rFkk uhps fn,
x, dwVksa dh enn ls lgh mRrj dk p;u djsa%&

lwph&I lwph&II
I. lk;ukbM izfØ;k A. vfr'kq) tesZfu;e
II. mRIykou fof/k B. phM+ dk rsy
III. fo|qr vip;u C. ,Y;wfufe;e dk fu"d"kZ.k
IV. tksu fjQkbfuax D. lksus dk fu"d"kZ.k
dwV %
(a) I-C, II-A, III-D, IV-B
(b) I-D, II-B, III-C, IV-A
(c) I-C, II-B, III-D, IV-A
(d) I-D, II-A, III-C, IV-B

38. NO2 AZn/NaOH B
Cold conc. HCl

C2H5OH

A and B are

(a) NHOH,HO NH2

(b) , H2NNH–HN NH2

(c) N=N

O

N=N

(d) none is correct
39. Equimolar solutions in the same solvent have :

(a) same boiling point but different freezing points
(b) same freezing point but different boiling points
(c) same freezing and boiling points
(d) different freezing and boiling points

40. Which of the following expressions is correct for
the rate of reaction given below ?

   35 6   Br aq BrO aq H

     2 23 3 aq Br aq H O l

(a) 5
Br H

t t

        
 

(b) 6
5

Br H
t t

        
 

(c) 5
6

Br H
t t

        
 

(d) 6
Br H

t t

        
 

41. Match List I with List II and select the correct
answer using codes given below in the lists:
 List I List II
I. Cyanide process A. Ultrapure Ge
II. Floatation process B. Pine oil
III. Electrolytic reduction C. Extraction of Al
IV. Zone refining D. Extraction of Au
Codes :
(a) I-C, II-A, III-D, IV-B
(b) I-D, II-B, III-C, IV-A
(c) I-C, II-B, III-D, IV-A
(d) I-D, II-A, III-C, IV-B
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42. dkye I ls dkye II dks lqesfyr dhft, %&

Column-I Column-II
(i) SN1 vfHkfØ;k (a) Vic-dibromides
(ii) vfXu'kked ;a= esa (b) gem-dihalides

iz;qDr jlk;u
(iii) ,Ydhuks dk czkseksuhdj.k (c) Racemisation
(iv) ,ydkbyhMhu gSykbM~l (d) Sytzeff rule
(v) ,fYdy gsykbZM ls (e) DyksjksczkseksdkcZUl

HX dk fu"dklu
dwV %

(a) (i-c), (ii-e), (iii-a), (iv-b), (v-d)
(b) (i-b), (ii-d), (iii-a), (iv-c), (v-e)
(c) (i-b), (ii-c), (iii-d), (iv-a), (v-e)
(d) (i-a), (ii-e), (iii-d), (iv-b), (v-c)

43. baVjQsjku gS ,d &

(a) thok.kq laØfer dksf'kdkvksa }kjk mRlftZr izksVhu

(b) dhVk.kq laØfer dksf'kdkvksa }kjk mRlftZr inkFkZ

(c) dod laØfer dksf'kdkvksa }kjk mRlftZr izksVhu

(d) dksf'kdkvksa dks ijLij tksM+us okyk inkFkZA

44. vkuqokaf'kd xq.kksa ds lapj.k og̀n~ v.kqvksa dh yEch
dM+h }kjk gksrk gS tks cus gksrs gSa %

 (a) ,ehuks vEy ls    (b) U;wfDy;ksVkbM~l ls

 (c) xq.klw= ls              (d) fd.od ls

45. Lruik;h thoksa dh yky jDRk dksf'kdkvksa dh voryh;
lrg ennxkj gksrh gS %

(a) T;knk gheksXyksfcu ds fuekZ.k esaA

(b) yky jDr dksf'kdkvksa dk ì"B {ks=Qy dks c<+kus esaA

(c) Iyktek f>Yyh ds i"̀B ruko dks ?kVkus esaA

(d) gheksXyksfcu ds fy, T;knk LFkku miyC/k djkus esaA

46. Hkkstu ds lkFk vkgkj uyh esa igq¡pus okys jksxk.kq
u"V gks tkrs gSa %

 (a) pckus ij        (b) ikpu ds i'pkr

 (c) ckby lzko ls    (d) HCl vEy }kjk

47. oqpsjsfj;k cSadØk¶Vh dk laØe.k QSyrk gS %

(a) jsr dhV }kjk

(b) Tse - tse eD[kh }kjk
(c) ,uksfQyht ePNj }kjk

(d) D;wysDl ePNj }kjkA

42. Match the items of column I and columnII.
Column-I Column-II
(i) SN1 reaction (a) vic-dibromides
(ii) Chemicals used in (b) gem-dihalides

fire extinguisher
(iii) Bromination of (c) Racemisation

alkenes
(iv) Alkylidene halides (d) Saytzeff Rule
(v) Elimination of HX   (e) Chlorobromocarbons

from alkylhalide
Codes :
(a) (i-c), (ii-e), (iii-a), (iv-b), (v-d)
(b) (i-b), (ii-d), (iii-a), (iv-c), (v-e)
(c) (i-b), (ii-c), (iii-d), (iv-a), (v-e)
(d) (i-a), (ii-e), (iii-d), (iv-b), (v-c)

43. Interferon is a
(a) protein secreted by virus-infected cells
(b) substance secreted by bacteria-infected cells
(c) protein secreted by fungus-infected cells
(d) substance that serves for cementing cells together

44. Genetic information is carried by long chain macro-
molecules made up of
(a)  amino acids (b) nucleotides
(c) chromosomes (d) enzymes

45. Concave surface of mammalian RBCs is helpful
in :
(a) formation of more haemoglobin
(b) increasing surface area of RBCs
(c) reducing surface tension of plasma
(d) providing more space for haemoglobin

46. Pathogens reaching into alimentary canal with food
are destroyed by :
 (a) mastication (b) digestion
(c) bile (d) HCl

47. Wuchereria bancrofti is transmitted by
(a) Sandfly
(b) Tse-tse fly
(c) Anopheles mosquito
(d) Culex mosquito
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48. fp= esa fn[kk;s x;s nks ysUlksa ds oØ i"̀Bksa dh
f=T;k;sa leku gSaA P, Q, ,oa R la;kstu dh rqY;
Qksdl nwfj;ksa dk vuqikr gksxkA

(P)      (Q)     R -

(a) 1 : 1 : 1 (b) 1 : 1 :-1
(c) 2 : 1 : 1 (d) 2 : 1 : 2

49. fdlh ek/;e ds fy;s ØkfUrd dks.k dk eku

1 3sin
5

  
 
 

 gSA blh ek/;e ds /kzqo.k dks.k dk eku

gksxkA

 (a) 1 4tan
3

  
 
 

(b) 1 3tan
4

  
 
 

 (c) 1 5tan
3

  
 
 

(d) 1 4sin
5

  
 
 

50. xzkQ ,d fp= ,d /kkrq ds fy, vR;f/kd 'kfDr'kkyh
QksVks bysDVªku dh xfrt ÅtkZ iznf'kZr djrk gS
tgk¡ KE max (ev) esa rFkk vkof̀r () gS( dks izdk'k
oS|qr izHkko ds iz;ksx esa dSFkksM ds #i esa iz;ksx fd;k
x;k gS rks ml   /kkrq ls mRlftZr QksVks bysDVªku ds
fy, izdk'k dh nsgyh vkof̀r gksxh %&

3

2

0

1

  (a) 1×1014 Hz (b) 1.5×1014 Hz

 (c) 2.1×1014 Hz (d) 2.7×1014 Hz

48. Given figures show the arrangements of two lenses.
The radii of curvature of all the curved surfaces are
same. The ratio of the equivalent focal length of
combinations P, Q and R is

(P)      (Q)     R -

(a) 1 : 1 : 1 (b) 1 : 1 :-1
(c) 2 : 1 : 1 (d) 2 : 1 : 2

49. The critical angle of a certain medium is 1 3sin
5

  
 
 

.

The polarising angle of the medium is

(a) 1 4tan
3

  
 
 

(b) 1 3tan
4

  
 
 

(c) 1 5tan
3

  
 
 

(d) 1 4sin
5

  
 
 

50. Figure represents a graph of kinetic energy of most
energetic photoelectrons, KE max (in eV) and fre-
quency () for a metal used as cathode in photo-
electric experiment. The threshold frequency of light
for the photoelectric emission from the metal is

     

3

2

0

1

 (a) 1×1014 Hz (b) 1.5×1014 Hz

(c) 2.1×1014 Hz (d) 2.7×1014 Hz
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ENGLISH

Spotting Error

Directions : Each item in this section has a sentence which is divided into parts labelled (a), (b) and (c).
Read each sentence to find out whether there is any error in any part and indicate your answer in the
Answer Sheet against the corresponding letter i.e., (a) (b) or (c) . If you find no error, your response should
be indicated as (d).

51. Mr. Verma was however , sure (a) / that the idea would never work (b) / in practice (c) / No error (d)
52. He was courted arrest (a) / in order to protest against corruption (b) / among the government servants . (c) / No

error (d)
53. The boy’s parents pleaded (a) / with the principal that (b) / they were too poor to pay his tuition fee. (c) / No

error (d)
54. Such books (a) / which you read (b) / are not worth reading. (c) / No error (d)
55. Employees are expected to (a) / adhere the rules (b)   laid down by the management . (c) / No error (d)

Fill in the Blanks

Directions : Each  of the following sentences in this section has a blank space and four words or group of
words given after the sentence. Select whichever word or group of words you consider most appropriate for
the blank space and indicate your response on the Answer Sheet accordingly.

56. Our team is hopeful _______________ winning the match .
(a) for (b) of (c) to (d) over

57. Mrs. Sharma and her younger sister are the _____________ of Jawahar Lal Nehru University.
(a) alumni (b) alumna (c) alumnae (d) alumnus

58. India spends a huge amount on the import of _____________Oil.
(a) edible (b) eatable (c) eating (d) feeding

59. Here is a document that _____________ your signature.
(a) brings (b) provides (c) bears (d) supports

Synonyms

Direction: Each item in this section consists of a word in capital letters followed by four words as (a), (b),
(c) and (d). Select the word which is most nearly the same in meaning as the original word and mark the
correct response as  (a), (b), (c) or (d) as the case may be, in your Answer Sheet.

60. ACCLIMATIZE
(a) Announce (b) Accustom (c) Approve (d) Make tall claims

61. CHAUVINISM
(a) Blind patriotism (b) Political trickery (c) Buffoonery (d) Defeatism

62. FEALTY
(a) Feeling (b) Truth (c) Faculty (d) Loyalty

63. HALIDOM
(a) Sanctity (b) Holiday (c) Present (d) Hell

PART-II
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Antonyms
Direction :  Each item in this section consists of a word in capital letters followed by four words or phrases
as (a), (b), (c) and (d). Select the word or phrase which is nearly opposite to the meaning of the original
word and mark the correct response as (a), (b), (c) or (d) as the case may be, in your Answer Sheet.

64. RESTIVE
(a) Restless (b) Relaxed (c) Deceitful (d) Grasping

65. JADED
(a) Rejected (b) Zestful (c) Wicked (d)  Frank

66. FATUOUS
(a) Predestined (b) Impatient (c) Purposeful (d) Silly

67. RELEGATE
(a) Repulse (b) Welcome (c) Substitute (d) Regale

Ordering of words in a sentence
Directions :  Each of the following items in this section consists of a sentence the parts of which have been
jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four sequences
namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the sentence and select the
correct sequence.

68. The statement
P : therefore you must listen carefully
Q :  What the speaker has said
R :  in order to understand
S :  will be made just once
The correct sequence should be :
(a) S P R Q (b) S R Q P (c) R S P Q (d) S P Q R

69. The clerk
P : on the desk
Q : left the money
R : in the safe
S : which he should have locked up
The correct sequence should be :
(a) S R Q P (b) Q R S P (c) P Q R S (d) Q P S R

70. P : We have no authentic record
Q : of Mother India
R : of the early life and adventures of these two strange children
S : save what they have given us in their autobiographies
The correct sequence should be :
(a) P R S Q (b) P R Q S (c) Q S R P (d) R P S Q

71. P : the endurance of the Indian people
Q : lies in his attempt to release the energies
R : contained in
S : the revolutionary significance of Gandhi Ji
The correct sequence should be :
(a) P Q R S (b)  S Q R P (c) P R Q S (d) S R P Q
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READING COMPREHENSION

Directions : In this section, is one short passage. After the passage, you will find few questions each based
on what is stated or implied in the passage. First read the passage and then answer the questions following
the passage.

Passage
Scientists  tell us that without the presence of the cohesive force among the atoms that comprise this globe of ours

, it would crumble to pieces and we would cease to exist and even as there is cohesive force in blind matters, so must
there be in all things animate. The name for that cohesive force among animate beings is love. We have to learn to use
that force among all that live, and in the use of it consists our knowledge of God. Where there is love there is life ; hatred
leads to destruction. Life persists amidst destruction. Only under that law would a well-ordered society be intelligible
and life worth living. All the teachers that have ever lived have preached this law with more or less the same vigour. If
love was not law of life, life would not have persisted in the midst of death. Life is a perpetual triumph over the grave.
If there is a fundamental distinction between man and beast, it is the former’s progressive recognition of the law and its
application in practice to his personal life. All the saints of the world, ancient and modern approve of that supreme law
of our being. That the brute in us seems so often to gain an easy triumph is true enough. But that does not disprove the
law. It shows the difficulty of practicing it.
72. Cohesive force means

(a) A force that repels one particle from the other
(b) A force which maintains balance between things
(c) A force which binds different particles or atoms of a thing together
(d) A force which attracts things from the atmosphere to the earth.

73. Human beings are bound by
(a) Self -interest
(b) Instinct of security
(c) Fear of God
(d) Love

74. Our knowledge of God consists in
(a) Understanding his omnipresence
(b) Learning to love all living things
(c) Learning that sinful acts lead to destruction
(d) Believing that God help the poor and the down trodden

75. The supreme law of our being is
(a) Survival of the fittest
(b) Love
(c) Survival of the best
(d) The inevitability of death .
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PART - II
GENERAL  AWARENESS

76. Consider the following statements :
1. In the election to the Lok Sabha or the legislative

assemblies of state in order to declare the winning
candidate, atleast 50% of total vote caste is
essential

2. As per the provisions laid down in the Indian
constitution, the post of Lok Sabha Speaker
goes to the majority party and the post of Deputy
Speaker goes to opposition party

Which of the above statements is/are true?
(a) Only 1 (b) Only 2
(c) 1 and 2 both (d) Neither 1 nor 2

77. In India judicial review means?
(a) The Right of Judiciary to explain the

constitutionality of the laws and the executive
orders

(b) The right of judiciary to question the authenticity
of laws framed by legislatures

(c) The right of Judiciary to review all statutory laws
before the consent of the President.

(d) The right of review of all the previously
dispensed verdicts on similar or different matters

78. In the context of Religious history of India consider
the following statements :–
1. Sautantrik and Sammitiyas were the religious

sects of Jain philosophy
2. The Sarvastivadians believed that the components

of divine phenomenon are not totally momentary
instead it always exists in some expressed form

Which of the above statements is are true?
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1nor 2

79. In the context of Indian history, what does the theory
of Diarchy signify?
(a) Division of Central Legislature into two houses
(b) Introduction or perpetuation of dual government

i.e. Central and State Governments
(c) Existence of two Administrative groups – one

at London and second in Delhi
(d) Division of delegated provincial subjects into two

separate classes

76. fuEufyf[kr dFkuksa ij fopkj dhft,
1- yksdlHkk vFkok jkT; dh fo/kkulHkk ds fuokZpu

esa] thrus okys mEehnokj dks fuokZfpr ?kksf"kr fd,
tkus ds fy,] fd, x, ernku dk de&ls&de
50% ikuk vfuok;Z gSA

2- Hkkjr ds lafo/kku esa vf/kdfFkr micU/k ds vuqlkj]
yksdlHkk esa v/;{k dk in cgqer okys ny dks
tkrk gS rFkk mik/;{k dk in foi{k dks tkrk gSA

mijksDr dFku esa ls dkSu&lk@ls lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2

77. Hkkjr esa] U;kf;d iqujh{k.k dk vFkZ gS
(a) fof/k;ks a vkSj dk;Zikfydk ds vkns'kks a dh

laoS/kkfudrk dh O;k[;k djus dk U;k;ikfydk
dk vf/kdkjA

(b) fo/kkf;dk }kjk fufeZr fof/k;ksa dh izkekf.kdrk dks
iz'uxr djus dk U;k;ikfydk dk vf/kdkjA

(c) jk"Vªifr dh lgefr ds iwoZ lHkh lkafof/kd dkuwuksa
ds iqujkoyksdu dk U;k;ikfydk dk vf/kdkjA

(d) lkekU; ;k fHkUu oknksa esa vius iwoZ ds fu.kZ;ksa ds
iqujh{k.k dh U;k;ikfydk dh 'kfDrA

78. Hkkjr ds /kkfeZd bfrgkl ds lUnHkZ esa] fuEufyf[kr
dFkuksa ij fopkj dhft,%
1- lkSrkfU=d vkSj lfEerh; tSu er ds lEiznk; FksA
2- lokZfLrokfn;ks a dh ekU;rk Fkh fd n`fXo"k;

¼fQuksfeuk½ ds vo;o iw.kZr% {kf.kd ugha gSa] vfirq
vO;Dr :i ls lnSo fo|eku jgrs gSaA

mijksDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2

79. Hkkjrh; bfrgkl ds lUnHkZ esa] ^}S/k 'kklu ¼Mk;dhZ½*
fl)kUr fdls fufnZ"V djrk gS\
(a) dsUnzh; fo/kkue.My dk nks lnuksa esa foHkktuA
(b) nks ljdkjksa] vFkkZr~ dsaUnzh; vkSj jkT; ljdkjksa

dk 'kq: fd;k tkukA
(c) nks 'kkld&leqPp; ( ,d yUnu esa vkSj nwljk

fnYyh esa gksukA
(d) izkUrksa ds izR;k;ksftr fo"k;ksa dk nks izoxksZa esa foHkktuA
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80. jktk d"̀.knso jk; ds lEcU/k esa fuEufyf[kr esa ls
dkSu&lk dFku lgha ugha gS\
(a) os ryqxw vkSj laLdr̀ ds ,d egku~ fo}ku FksA
(b) fons'kh ;k=h ik;l vkSj uqfut muds njckj esa

vk;s FksA
(c) ckjckslk us mldh U;k; O;oLFkk ,oa fu"i{krk dh

iz'kalk dh gSA
(d) mUgksaus viuh loZJs"B df̀r ^veqDrekY;n* dh

jpuk laLdr̀ esa dhA

81. fuEufyf[kr esa ls D;k] ykWMZ osystyh dh lgk;d
lfU/k dh ,d fo'ks"krk ugha Fkh\

(a) fdlh ckgjh [krjs ls lfU/kc) jkT; dh lqj{kk
ds fy, fczfV'k ftEesnkj FksA

(b) lfU/kc) jkT; dks fczfV'k 'kklu ds lg;ksx ds
fcuk lHkh vkUrfjd [krjksa ls vdsys fuiVuk
gksrk FkkA

(c) lfU/kc) jkT; dks mlds {ks= esa fLFkr fczfV'k
lSU;ny dh vko';drkvksa ds fy, lalk/ku miyC/k
djokus gksrs FksA

(d) fcuk fczfV'k 'kklu dh vuqefr ds lfU/kc) jkT;
fdlh nwljs jktk ls dksbZ le>kSrk ugha dj
ldrk FkkA

82. fuEufyf[kr esa ls dkSu&lh ,d fo'ks"krk mifuos'kh;
Hkkjr esa jsy dh ugha Fkh\

(a) Hkkjr esa jsy dh LFkkiuk dk eq[; mn~ns'; fczfV'k
lkezkT; ds fgrksa dh lsok djuk FkkA

(b) 5 izfr'kr ds xkjf.Vr C;kt ij fczfV'k iw¡th
fuos'k dks vkefU=r fd;k x;k] tks t:jh gksus
ij Hkkjrh; jktLo ls ns; gksxkA

(c) fuekZ.k dk;Z us ikfjfLFkfrdh dks vlkekU; dj
fn;kA

(d) jsyos ds fuekZ.k dks bl izdkj fu;ksftr fd;k
x;k fd og vkUrfjd cktkjksa dks leqnzh cUnjxkgksa
ls tksM+s] fdUrq blls vkUrfjd cktkjksa ,oa uxjksa
ds chp lEidZ LFkkfir ugha gqvkA

80. Which of the following statements regarding Raja
Krishnadeva Rai is not true?
(a) He was a great scholar of Telugu and Sanskrit
(b) Foreign Travellers Paes and Nunej came in his

court
(c) Barbosa praised him for the prevalence of fa-

mous/popular cult of great justice and unbiased
judgement

(d) He composed his best literary work called
‘Amuktamalyad’ in sanskrit

81. Which one among the following was not a feature
of subsidiary alliance of Voclessely?
(a) The Britishers would be responsible for the se-

curity of the treaty bound state against any ex-
ternal threat

(b) The treaty bound state had to tackle on its own
against all internal threats without any support
from British administration

(c) The treaty bound state had to provide resources
to meet out the military requirements of the Brit-
ish armed regiments deployed in their region

(d) The treaty bound states were not allowed to enter
into any agreement with any other king without
the permission of the British administration

82. Which one of the following was not a feature of
Railways in Colonial India?
(a) The main objective behind establishment of Rail-

ways in India was to serve/fulfill the interests of
British empire

(b) British capital investment was invited on a prom-
ise of 5% guaranteed interest which would be
payable from the Indian revenue (Treasury) if
needed

(c) the construction work destabilized the ecosystem.
(d) The construction of Railways was planned in such

a way that it could connect the sea ports with
internal markets but it could not establish a link
between internal markets and cities.
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83. Hkkjrh; lafo/kku esa izfr"Bkfir jkT; dh uhfr ds
funs'kd rRoksa ds vUrxZr fuEufyf[kr izko/kkuksa ij
fopkj dhft,A
1- Hkkjrh; ukxfjdksa ds fy, leku ukxfjd ¼flfoy½

lafgrk lqfuf'pr djukA
2- xzke iapk;rksa dk xBuA
3- xzkeh.k {ks=ksa esa dqVhj m|ksxksa dks izksRlkfgr djukA
4- lHkh deZpkfj;ksa ds fy, ;Fkksfpr vodk'k rFkk

lkaLdf̀rd volj lqjf{kr djukA
mijksDr esa ls dkSu&ls xk¡/khoknh fl)kUr gSa] tks
jkT; dh uhfr ds funs'kd rRoksa esa izfrfcfEcr gksrs gSa\
(a) 1] 2 vkSj 4 (b) 2 vkSj 3
(c) 1] 3 vkSj 4 (d) buesa lHkh

84. Hkkjrh; lafo/kku ds vuqlkj] Hkkjr ds jk"Vªifr dk
;g dÙkZO; gS fd os fuEufyf[kr esa ls fdldks@fdudks
laln ds iVy ij j[kok,\
1- la?k foÙk vk;ksx dh flQkfj'kksa dks
2- yksd ys[kk lfefr ds izfrosnu dks
3- fu;U=d&egkys[kk ijh{kd ds izfrosnu dks
4- jk"Vªh; vuqlwfpr tkfr vk;ksx ds izfrosnu dks
fuEufyf[kr dwVksa ds vk/kkj ij lgh mRrj pqfu,
(a)  dsoy 1 (b) 2 vkSj 4
(c)  1] 3 vkSj 4 (d)  ;s lHkh

85. yksdlHkk vkSj jkT;lHkk ds chp xfrjks/k dh fdl
fLFkfr@fdu fLFkfr;ksa esa laln dh la;qDr cSBd
cqykbZ tkrh gS\
1- lk/kkj.k fo/ks;d dks ikfjr djus dh fLFkfr esa
2- /ku&fo/ks;d dks ikfjr djus dh fLFkfr esa
3- lafo/kku la'kks/ku fo/ks;d dks ikfjr djus dh

fLFkfr esa
fuEufyf[kr dwVksa ds vk/kkj ij lgh mRrj pqfu,
(a) dsoy 1 (b) 2 vkSj 3
(c)  1 vkSj 3 (d)  ;s lHkh

86. Hkkjr ds lafo/kku esa dsUnz vkSj jkT;ksa ds chp fd,
x, 'kfDr;ksa ds foHkktu buesa ls fdlesa mfYyf[kr
;kstuk ij vk/kkfjr gSa\
(a) ekysZ fe.Vks lq/kkj] 1909
(b) ekW.VsX;w&psElQksMZ vf/kfu;e] 1919
(c) Hkkjr ljdkj vf/kfu;e] 1935
(d) Hkkjrh; LorU=rk vf/kfu;e] 1947

83. Consider the following provisions inducted in the
directive principles of state policy, of the Indian
Constitution.
1. Ensuring uniform civil code for all Indian Citizens.
2. Formation of Gram Panchayats.
3. Promotion of cottage industries in rural area.
4. Providing appropriate leave and cultural

opportunity to all employees.
Which of the above is/are Gandhian thoughts re-
flected in directive principles?
Codes :
(a) 1, 2 and 4 (b) 2 and 3
(c) 1, 3 and 4 (d) All these

84. As per Indian Constitution it is the duty of the presi-
dent to place, which of the following on the floor of
the house?
1. The recommendations of Union finance

Commission
2. The report of Public Account Committee.
3. The report of comtroller and auditor general of

India.
4. The report of National Commission on Schedule

Caste.
Choose the correct answer using the codes given
below :
(a) Only 1 (b) 2 and 4
(c) 1, 3 and 4 (d) All these

85. On which issue/issues of conflict between Lok
Sabha and State Council, the joint session of par-
liament is called?
1. To pass an Ordinary Bill.
2. To pass a Finance Bill.
3. To pass a constitution Amendement Bill.
Choose the correct answer with the help of the
codes given below :
(a) Only 1 (b) 2 and 3
(c) 1 and 3 (d) All these

86. The distribution of power between central and states
in the Indian Constitution is based on the provisions
of which of the followings?
(a) Marle-Minto Reform 1909
(b) Montegue-Chelmsford Act-1919
(c) Government of India Act-1935
(d) Indian Independence Act-1947
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87. fuEu dks lqesfyr dhft, %
  lwph-I   lwph-II
A. ckjckslk 1. —".k nso jk;
B. vCnqy jTt+kd 2. nsojk;-I
C. uwfut 3. nsojk;-II
A. fudksyks&Mh&dks.Vh 4. vP;qr jk;
uhps fn;s x;s dwVksa dh lgk;rk ls lgh mRrj
nhft,%

A B C D A B C D
(a) 1 3 4 2 (b) 2 3 4 1
(c) 3 2 4 1 (d) 4 1 2 3

88. iwoZ ls if'pe dh vksj c<+rs gq, fuEufyf[kr izkphu
jkT;ksa dk lgh Øe gS%
(a) vax] dk'kh] dks'ky] oRl
(b) dk'kh] vax] dks'ky] oRl
(c) dks'ky] dk'kh] vax] oRl
(d) oRl] vax] dk'kh] dks'ky

89. tc lkSj yiVsa ok;q rFkk /kwy ds d.kksa ls Vdjkus ds
i'pkr iF̀oh ds ok;qe.My esa izos'k djrh gSa rks og
,d jaxhu ǹ'; mRiUu djrh gSa ftls vkSjksjk cksfj;kfyl
dgrs gSaA vkSjksjk cksfj;kfyl ifj?kVuk ?kVrh gSa\
 (a) mŸkjh /kzqo ij      (b) nf{k.k /kzqo ij
(c) fo"kqor~ js[kk ij    (d) mi vkdZfVd {ks= esa

90. dFku%I& tc iF̀oh dh nwjh lw;Z ls fudVre gksrh gS
rks bls Perihelion ¼lw;Z lehid½ dgrs gSa
dFku%II& ;g 3 tuojh dks ?kVrh gSA
 (a) nksuksa dFku lR; gSa
 (b) nksuksa dFku vlR; gSa
(c) dFku&I lR; gS ijUrq dFku&II vlR;
(d) dFku&II lR; gS ijUrq dFku&I vlR;

91. vfHkdFku % leqnz esa Å¡ph ygjsa ges'kk rHkh mBrh
gSa tc vekoL;k vFkok iwf.kZek gksrh gS rFkk SYZYGY
dh fLFkfr curh gS
dkj.k % lw;Z rFkk pUnzek dk lkewfgd cy mPp
ygjksa dks mRiUu djrk gS
(a) nksuksa dFku lR; gSa ,oa dFku&II, dFku&I, dh

lgh O;k[;k djrk gSA
(b) nksuksa dFku lR; gSa ijUrq dFku&II, dFku&I, dh

lgh O;k[;k ugha djrkA
(c) nksuksa dFku vlR; gSaA
(d) dsoy dFku&I lR; gSA

87. Match the followings :
      List-I         List-II
A. Barbosa 1. Krishna Dev Rai
B. Adbul Razzaq 2. Devrai-I
C. Nooniz 3. Devrai-II
D. Nicolo-D-Conty 4. Achyut Rai
Choose the correct answer using the codes given
below :

A B C D A B C D
(a) 1 3 4 2 (b) 2 3 4 1
(c) 3 2 4 1 (d) 4 1 2 3

88. Moving towards West from the East arrange the
following ancient states in proper sequence :
(a) Ang, Kashi, Koshal, Vatsa
(b) Kashi, Anga, Koshal, Vatsa
(c) Koshal, Kashi, Anga, Vatsa
(d) Vatsa, Anga, Kashi, Koshal

89. When solar flares reach the Earth’s Atmosphere
after colliding with air & dust particles, it produces
colorful effect which is known as Aurora Borealis.
Aurora Borealis occurs on :
(a) North Pole (b) South Pole
(c) Equator  (d) Sub Arctic

90. Statement I : When the Earth is at minimum
distance from the Sun it is called- Perihelion
Statement II : It occurs on 3rd of January
(a) Both statements are correct
(b) Both statements are incorrect
(c) Statement I is correct & II is incorrect
(d) Statement II is correct & I is incorrect

91. Assertion : High tides occurs always when New
Moon or Full Moon occurs & form SYZYGY.
Reason : The combined forces of the Sun & Moon
result into high tides :
(a) Both are correct & statement II is explanation

of statement I
(b) Both are correct but statement II is not related

with statement I
(c) Both are incorrect
(d) Only Statement I is correct
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92. Mistral is a :
(a) Warm wind with a lot of dust
(b) Local wind over the Rhine valley
(c) Cold wind down the Rhine valley
(d) Cold wind in USA

93. Which two seas are connected by the Suez canal?
(a) Red Sea & Arabian Sea
(b) Red Sea & Mediterranean Sea
(c) Arabian Sea & Mediterranean Sea
(d) North Sea & Adriatic  Sea

94. Pangia divided into Angaraland & Gondwana land
in which period :
(a) Triassic Period (b) Cenozoic Period

    (c) Paleocene Period (d) Eocene Period

95. Which country is engaged in Humanitarian
Assistance and Disaster Relief (HADR) Table Top
Exercise Siam Bharat 2017 with India?
(a) Sri Lanka (b) Singapore

   (c) Russia (d) Thailand

96. Which state has become the first to accept the
January-December financial year in place of the
existing April-March?
(a) Uttar Pradesh (b) Madhya Pradesh
(c) Rajasthan         (d) Maharastra

97. Which team has won Azlan Shah Cup Hockey
tournament 2017?
(a) Britain (b) Australia

    (c) Malaysia         (d) New Zealand

98. A new premier train service between Mumbai and
Goa has been started in June. What is the name of
this train?
(a) Tejas Express
(b) Vivek Express

    (c) Mumbai -Goa Express
   (d) Konkan Express

92. Mistral gS&
(a) /kwy ls ifjiw.kZ ,d xeZ gokA
(b) jkbZu ?kkVh ds Åij izokfgr gksus okyh ,d

LFkkuh; gokA
(c) jkbZu ?kkVh ds uhps cgus okyh BaMh gokA
(d) vesfjdk esa cgus okyh ,d BaMh ok;qA

93. Lost ugj fdu nks lkxjksa dks tksM+rh gS\

(a) yky lkxj rFkk vjc lkxj

(b) yky lkxj rFkk Hkwe/; lkxj

(c) vjc lkxj rFkk Hkwe/; lkxj

(d) mŸkjh lkxj rFkk ,fMª;kfVd lkxj

94. fdl dky esa iSaft;k vaxkjk Hkwfe ,oa xkasMokuk Hkwfe
esa foHkkftr gqvk\

 (a) Vªk;fld dky esa (b) lhukstksbd dky esa

(c) isfy;kslhu dky esa (d) b;kslhu dky esa

95. dkSu lk ns'k] Hkkjr ds lkFk ^fl;ke Hkkjr*&2017
uked ekuoh; lgk;rk rFkk vkink jkgr (HADR)
mPp izkFkfedrk vH;kl esa 'kkfey gS\
 (a) Jhyadk (b) flaxkiqj
 (c) :l (d) FkkbZyS.M

96. buesa ls dkSu lk ,slk igyk jkT; gS ftlus orZeku
viSzy&ekpZ foÙkh; o"kZ ds ctk; tuojh&fnlEcj
foÙkh; o"kZ iz.kkyh dks viuk;k gS\
 (a) mŸkj izns'k (b) e/; izns'k
 (c) jktLFkku (d) egkjk"Vª

97. fdl Vhe us o"kZ 2017 dk vtyku 'kkg gkdh
VwukZes.V thrk gS\
(a) fczVsu (b) vkLVªsfy;k
(c) eysf'k;k (d) U;wthyS.M

98. eqEcbZ rFkk xksok ds e/; ,d ubZ izhfe;j Vsªu lsok
twu ls izkjEHk dh x;hA bl jsyxkM+h dk uke D;k gS\
(a) rstl ,Dlizsl
(b) foosd ,Dliszl
(c) eqqEcbZ xksok ,Dlizsl
(d) dksad.k ,Dlizsl
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99. Which of the following internet-based interface was
launched recently to provide direct and effective
solutions to the problems faced by farmers and
stakeholders in the agriculture sector?
(a) E-KrishiSamvad
(b) E- KrishiMitra
(c) E-Krishi
(d) E-KisanMitra

100. Who among the following is elected as head of FIFA
governance committee ?
(a) Vinay mohan kwatra
(b) Moon Jae

    (c) Emmanuel Macron
    (d) Justice Mukul Mudgal

99. buesa ls fdl baVjusV&vk/kkfjr var% lapkj iz.kkyh
dh 'kq:vkr d`f"k {ks= ls tqM+ s fdlkuks a rFkk
fgr/kkjdksa ds le{k ekStwn leL;kvksa dk izR;{k rFkk
izHkkoh gy miyC/k djkus ds mÌs'; ls dh xbZ\
(a) bZ&d̀f"k laokn
(b) bZ&df̀"k fe=
(c) bZ&d̀f"k
(d) bZ&fdlku fe=

100. fuEufyf[kr esa ls fdls QhQk (FIFA) dh iz'kkldh;
lfefr dk v/;{k pquk x;k gS\
(a) fou; eksgu Dok=k
(b) ewu tbZ
(c) besuq,y eSØksu
(d) U;k;ewfrZ eqdqy eqn~xy
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le; % nks ?kaVs                                                                        iw.kkZad % 400

vuqn s”k
1- ijh{k.k izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysa fd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk

ì’B vFkok iz”ukad vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.k iqfLrdk ls cny yhft,A
2- —i;k /;ku j[ksa fd OMR mŸkj&i=d esa] mfpr LFkku ij] jksy uEcj /;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc)

djus dh ftEesnkjh mEehnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr
dh fLFkfr esa mŸkj&i=d fujLr dj fn;k tk;sxkA

3- bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks’Bd esa vkidks viuk vuqØekad
fy[kuk gSA ijh{k.k iqfLrdk ij vkSj dqN u fy[ksaA

4- bl ijh{k.k iqfLrdk esa dqy 100 iz”ukad ¼iz”u½ fn, x, gSa] Hkkx I & xf.kr] foKku vkSj Hkkx II - v¡xzsth] lkekU; lpsrrkA
izR;sd iz”ukad esa pkj  izR;qŸkj ¼mŸkj½ fn, x, gSaA buesa ls ,d izR;qŸkj dks pqu ysa] ftls vki mŸkj&i=d ij vafdr djuk pkgrs
gSaA ;fn vkidks ,slk yxs fd ,d ls vf/kd izR;qŸkj lgh gS] rks ml izR;qŸkj dks vafdr djsa tks vkidks loksZŸke yxsA izR;sd iz”ukad
ds fy, dsoy ,d gh izR;qŸkj pquuk gSA

5- vkidks vius lHkh izR;qRrj vyx ls fn, x, mRrj&i=d ij gh vafdr djus gSaA mRrj&i=d esa fn, x, funsZ”k nsf[k,A
6- çR;sd ç'uka'k pkj ¼4½ vad dk gSA
7- blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz”uka”kksa ds izR;qRrj mRrj&i=d ij vafdr djuk “kq: djsa] vkidks izos”k izek.k&i=

ds lkFk izsf’kr vuqns”kksa ds vuqlkj dqN fooj.k mRrj&i=d esa nsus gSaA
8- vki vius lHkh izR;qRrjksa dks mRrj&i=d esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mRrj&i=d v/kh{kd dks lkSai nsaA vkidks

vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA
9- dPps dke ds fy, i=d ijh{k.k iqfLrdk ds vUr esa layXu gSaA

10- xyr mRrjksa ds fy, n.M%
oLrqfu’B iz”u&i=ksa esa mEehnokj }kjk fn, x, xyr mŸkjksa ds fy, n.M fn;k tk,xkA

(i) izR;sd iz”u ds fy, pkj oSdfYir mRrj gSaA mEehnokj }kjk izR;sd iz”u ds fy, fn, x, ,d xyr mRrj ds fy, iz”u gsrq fu;r
fd, x, vadksa dk ,d ¼1½ vad n.M ds :i esa dkVk tk,xkA

(ii) ;fn dksbZ mEehnokj ,d ls vf/kd mRrj nsrk gS] rks bls xyr mŸkj ekuk tk,xk] ;|fi fn, x, mŸkjksa esa ls ,d mŸkj lgh
gksrk gS] fQj Hkh ml iz”u ds fy, mi;qZDrkuqlkj gh mlh rjg dk n.M fn;k tk,xkA

(iii) ;fn mEehnokj }kjk dksbZ iz”u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mŸkj ugha fn;k tkrk gS] rks ml&iz”u ds fy, dksbZ
n.M ugha fn;k tk,xkA

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

/;ku nsa % vuqns”kksa dk fgUnh :ikUrj bl iqfLrdk ds fiNys i’̀B ij Nik gSA
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